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1. Classify the following matrices:

(i)
2 1
0 6
8 T
Solution:-

The order of the given matrix is, 3 x 2.
Therefore, the given matrix is a rectangular matrix of 3 x 2.

iy [7 O]

Solution:-
The order of the given matrix is, 1 x 2.
Therefore, the given matrix is a rectangular matrix of 1 x 2.

5 0 0
a2 1

Solution:-
The order of the given matrix is, 2 x 3.
Therefore, the given matrix is a rectangular matrix of 2 x 3.

1 1
0 9
Solution:-

The order of the given matrix is, 2 x 2.
Therefore, the given matrix is a square matrix of 2 x 2.

(iii)

(iv)

(v)
L1 3 0
2 1 8 4
1 5 5 2
Solution:-

The order of the given matrix is, 3 x 4.
Therefore, the given matrix is a rectangular matrix of 3 x 4.
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2. Find the values of aand b, if [2a + 3ba - b] =[19 2]
Solution:-
From the question,

2a+3b=19 ... [equation (i)]
a—b=2 ... [equation (ii)]
a=2+b

Now, substitute the value of a in equation (i),
2(2+b)+3b=19

4+2b+3b=19

5b=19-4

5b=15

b=15/5

b=3

Then,a=2+b
=2+3
=5

Therefore, the value of ais 5 and b is 3.

[3;r: — y] [ T ]
3. Find the values of xand y, ifL 2 J=l7+Y
Solution:-

Consider the given two matrices,

5Ll

The given two matrices are rectangular matrices of 2 x 1.

3x-y=7 ... [equation (i)]
X+y=5 ... [equation (ii)]
x=5-y

Now, substitute the value of x in equation (i),
3(5-y)-y=7

15-3y-y=7

15-4y=7

15-7 =4y

8 =4y

y =8/4

y=2

Then,x+y=5
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S5-y
5-2

X

X
x=3

Therefore, the value of x is 3 and vy is 2.

a+3b 3c+ d}

4. Find the values of a, b, c and d, if [2” —b c—2d
Solution:-

From the given matrices,

a+3b=5 ... [equation (i)]
2a—-b=3 ... [equation (ii)]
b=2a-3

Now, substitute the value of b in equation (i), we get
a+3(2a-3)=5

a+6a—-9=5

By transposing,

72a=5+9

7a=14

a=14/7

a=2

Again substitute the value of a in equation (i),
2+3b=5

3b=5-2

3b=3

b=3/3

b=1

Then,

3c+d=8 ... [equation (iii)]
c—2d=5 ... [equation (iv)]
c=5+2d

Now substitute the value of c in equation (iii),
3(5+2d)+d=38

15+6d+d=8

7d=8-15

7d=-7

d=-7/7

d=-1
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substitute the value of d in equation (iv),
c—2d=5

c=5+2d

c=5+2(-1)

c=5-2

c=3

17 | ;]find: (i) A + B (ii) 2A + 3B (jii) A- 2B.

19 1= 5

5.1f A = .l'.J _lD and B = |
11

Solution:-

Given two matrices are square matrices of 2 x 2

o 1242 1547
(0 A+B‘[11+4 1?+9}

(ii) 2A+ 3B
94 — 14x2 22x2
15 %2 26 x2

K ]
94 + 3B — [H4+5 30%1}

22+ 12 34+ 27
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(iii) A—2B

2x2 Tx?2
28 =
2B [4><2 sz}

|4 14

|8 18

12—-4 15— 14

A _ 9 —
A-2B [11—8 1?—18}

6.1f A=[47] and B =[3 1], find: (i) A + 2B (ii) A -B (iii) 2A - 3B
Solution:-
From the question it is given that,
A=1[47]x>2
B= [3 1]1x2
Then,
(i) A+ 2B
2B=[3x21x2]
=[62]
So,A+2B=[4+67+2]
=[10 9] 1x2
(i)A-B
A-B=[4-37+1]
=[16] x>
(iii) 2A - 3B
2A=[4x27 % 2]
= [8 14]
3B=[3x31x3]
=[93]
So,2A-3B=[8-914-3]
=[-111] k2

2

7.1fP = [ ﬂ and Q= [: ﬂfind: (i) 2P +3Q (ii) 2Q - P (iii) 3P - 2Q.

[y |
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Solution:-
Given two matrices are square matrices of 2 x 2
Then,
(i) 2P + 3Q
2x2 9x?2
2P =
2P 5x2 Tx 2]
4 18
10 14
(7Tx3 3x3
3Q = 4x3 1x 3}
121 9
(12 3
(4421 1840
7 =
2PH3Q= 1194 19 14+3]
25 27
~ |22 17
(i) 2Q—-P
Tx2 3 x2
20 = 4x2 1x 2}
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(i) 3P -2Q
(Tx2 3x2
M) =
26 4 % 2 1><2}
14 6
T8 2
2% 3 9x3
3P__5><3 TxB}
6 o7
T |15 21
Then,
6— 14 27T —6
) =
3P —20 15— 8 21—2}
_[-s 21
LT 19

11T 5 19 |9 3 T, _
B.Iffl_[ll g 13]andB_[1 6 5}fmd2ﬂu 3B.

Solution:-

Given two matrices are rectangular matrices of 2 x 3
Then,

94_'1?:«.2 Fx2 19x2
ST 11x2 8x2 13x2
34 10 38
|22 16 26
0x3 3x3 7Tx3
33__1><3 6 %3 En><3]
27 o9 21
13 18 15
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Then,
34 —-27 10-9 38-—-121
24 — =
2438 [22—3 16— 18 26 — 15
I B S v
{19 =2 11

8 3 47
9. f M =19 Tland N= |5 3|find:(i)M+N(i)M-N

4 3 101
Solution:-
Given two matrices are rectangular matrices of 3 x 2
Then,
(i)

S+4 347
M+N=19+5 7+3

4410 3+1

1210

= |14 10

14 4

(if)

M- N=
4 — 10 3—1

1%

10. If A = [

—_

iz

Solution:-

8—4
O—5

9
0
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ﬂfi nd: (i) negative A (ii) A’

Given matrix is a rectangular matrix of 2 x 3.

Then,
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Transpose of a matrix by switching its rows with its columns

e -1 -9 -
(i) N r.gai‘.f.e,r; A= [_5 0 _3]

(i) A" = ]9
4

Ll o O

3 5
11.§ P = ['r ;}, find: (i) P (ii) P + P" (iii) P = P"
Solution:-
From the question it is given that,
8 D
P-[7 3
Then,
(i) P [8 1

a2

15 13
12.1fB= |11 12} find the transpose of matrix B and if possible find the sum of
17
the two ntatrices. If not possible state the reason.
Solution:-
From the question it is given that,
_|15 13
11 12
17
B'=[15 11 10
13 12 17
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We cannot add them, because to add two matrices their corresponding number of rows
and number of columns should be same. But in the above case B and B! are not same.

_ b or _q 4 _ 9 7| ..
13.IfA-[p ?],B-lg JandA+B-[5 8}flnf.lthe1||.~‘aluesa:n‘|:\ﬁ,.n:qj.ranldsrh

Solution:-

From the question it is given that,

SN

Now we have to_add 2 given matrices,
J T g 4

So,A+B=|?FTq r+d [
p+3 T+s

9 7
But it is given in the question, A+ B = [5 8] . [2]

From [1] and [2] we get,

d+q r+4 |97
p+3 T+s|7|5 8

Then,
5+9=9
g=9-5
g=4
r+4=7
r=7-4
r=3
p+3=5
p=5-3
p=2
7+s=8
s=8-7
s=1
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3p D 12 6
14. IfA= [g ﬂ, B =[2‘:; Cﬂ andA+B =[2r 34. find the values of p, q, r and s.

5
Solution:-

From the question it is given that,

P q| g_|3P 24
A{a EJ’E lﬁq ?’]
Now we have to add 2 given matrices,
p+3p g+ 5gq
A+B=|g 4 2 5+?T
So,ﬂ.+l3=[ 4p 5‘1’] - [1]
8+2q 12 12 6
But it is given in the question, A+ B = [2r 34 .. [2]

From [1] and [2] we get,

8+2¢ 12) 7 [2r 3s

Then,
dp=12
p=12/4
p=3
6g=6
q=6/6
g=1
8+2q=2r
8+2(1)=2r
8+2=2r
r=10/2
r=5

12 =3s
s=12/3
s=4
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20+ b r
5.1 Ja—b| =

Solution:-

4 3a|
= 6l find the values of a, b, c and d.

From the question it is given that,

2a + b r _ 4 3a
d Ja—b| L7 6

Then,

2a+b=4 ... [equation (i)]
3a—b=6 ... [equation (ii)]
Now we have to add both equation (i) and equation (ii) we get,
5a=10

a=10/5

a=2

substitute the value of a in equation (i)we get,
22)+b=4

4+b=4

b=0

Then,

c=3a

c=3(2)

c=6

d=7
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